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Method of Steve

• Correction use D0 sweighted data and MC

• 𝑆 𝑡𝑟𝑒𝑐 = 𝑓 𝑡𝑟𝑒𝑐 𝑔 𝑡𝑟𝑒𝑐 𝛽 𝑡𝑟𝑒𝑐 fit function

• 𝑓 𝑡𝑟𝑒𝑐 MC 𝑡𝑟𝑒𝑐 distribution

• 𝑔(𝑡𝑟𝑒𝑐) = exp(−𝑡𝑟𝑒𝑐/𝜏fi𝑡)/ exp(−𝑡𝑟𝑒𝑐/𝜏𝑠𝑖𝑚)

• 𝛽(𝑡𝑟𝑒𝑐) = 1 + 𝛽0𝑡𝑟𝑒𝑐
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𝛽 = 1 + 𝛽0𝑡𝑟𝑒𝑐
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Comparation of D0 data and MC
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Efficiency of D0 data compare with MCTau distribution of D0 data compare with MC



𝛽(𝑡𝑟𝑒𝑐) = 1 + 𝛽0𝑡𝑟𝑒𝑐
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Fit function:   𝑎 ∙ 1 + 𝛽0𝑡𝑟𝑒𝑐
𝑎 = 0.88 ± 0.013
𝛽0 = 1.56 ± 0.16 × 102 𝑛𝑠−1

𝜒2/𝑛𝑑𝑓=59/18

𝜀𝑑𝑎𝑡𝑎
𝜀𝑀𝐶
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𝑆 𝑡𝑟𝑒𝑐 = 𝑓 𝑡𝑟𝑒𝑐 𝑔 𝑡𝑟𝑒𝑐 𝛽 𝑡𝑟𝑒𝑐 𝑆 𝑡𝑟𝑒𝑐 = 𝑓 𝑡𝑟𝑒𝑐 𝑔 𝑡𝑟𝑒𝑐 𝛽 𝑡𝑟𝑒𝑐
𝑓 𝑡𝑟𝑒𝑐
𝑔 𝑡𝑟𝑒𝑐
𝛽 𝑡𝑟𝑒𝑐



Problem 
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收敛到奇怪的值
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Early result
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𝜏D = 609 ± 26𝑓𝑠
𝜒2/𝑛𝑑𝑓=14.4/6


